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Abstract: A new approach to solve the H-infinity control problem for linear discrete-time systems with multiple de-
layed measurements is proposed based on Krein space theory. By using the relationship between H-infinity measurement-
feedback control problem and indefinite quadratic form, the H-infinity control problem for the time delay system is sep-
arated into an LQ problem and a delayed H2 estimation problem which can be converted into a delay-free Ho estimation
problem resorted to reorganizing the measurements. Then, a sufficient and necessary condition for the existence of the
H-infinity controller which is determined by two Riccati equations is presented. The approach in this paper does not require
system augmentation.
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2 8 338 (Problem formulation)
ZEUT EH RS
r(t+1)=F(t)z(t) +G1(t)w(t) +G2(t)u(t), (1)
s(t) = L{t)z(t). @)

Hrpz(t) € R, w(t) € R, u(t) € R™Fis(t) € R4y
IPSERS IR NSNS UR L N RPN LB T R
BT A A A A I R A 2, LI R
eS|

yi(t) = Hy(t)x(t;) + vi(t), i =0,1,--- 1, (3)

i > O, t; =ty —d; (to = 1), d; > 0Hdy =
0. y;(t) € Re ORI A, v;(¢) € RP: by g 75
F(t),Gi(t),Go(t), L(t) FIH (t) Ji& M i &%
B, AT, s« ARFERE I .

75 K@Y, ()R LEERT Z R A (¢) 1 8,
LY (t), X(t)FIV ()73 ml % 7= W, RS BL K &R
GE(1)~(3)LELIT Z1 1 AH 5C 1R UL DU R 7 3l A2 2 )
E 5w

Y(t)=H(t)X(t) + V(¢).

o
( 1—1 7
o () - yi (D], > di<t< Yo dy,
Y(t): klzl k=1
s () -y (0], ;;1 dy < t,
( i—1 i
[l'*(t()) Ilf*(tlfl)] R dk <t< Z dk,
X(t): * k71 k=1
[z*(to) ---2*(t)], > dp <,
k=1
i—1 i
[ (8) - v ()], Y de<t< Y di,
V(t): ) kl:1 k=1
[vg(t) -+ v ()], kZ_:l dp <t,
H
i—1 i
dlag{Ho(t), ce ,Hi,]_ (t)} y de <t< de
H(t): k=1 k=1

I
diag{Ho(t),--- , H)(t)}, > dp<t.
k=1

Aai() hH SR R %, 4t R AN
o

sup — < 72. 4)
2(0),w,v; Ehs %
Horp: N
A =x*(N + 1) Py x(N 4+ 1) + > a*(t)Qu(t) +
t=0

ﬁ) S (O Rss (1),

B =z (0) ;" z(0) + éw*(t)@i”w(t) +

S VO V)
YHAT & 4 IR, R BRI, PR, QF, QF
REFIRY S 45 72 I 1F 8 CF 15 ) AU . HiFE RY H
HanF e
diag{RY, - B 1S de<t< S dy,
RV— k=l k=1
diag{ Ry, - , R/}, ’;dk < t.

eI NINEG s I T (TR e
MMTD) % 5E R4 (1)~3), KK —H,, Hith
R sat) = F (Y(0);--- ;Y () HbFH
kR g, A1) BT
3 %R (Preliminaries)

BT H K R B4 il ) 5 AN 58 IR 2 [
(1R 3R, Hoo PEREFRFR (@) AT A R I R A

Ty=a" O2(0) + S ur (0@ w(t) +

i(Y(t) — H(H)X (1) (R*) (Y (t) -
H)X(t)—y *(z*(N+1) Py z(N+1)+

S (HQua(t) + tﬁ;)s*(t)Rss(t)).

t=0
W) F SCI81RT 40 1) BEMMTDES A T W AT 75 (4 4] 18
A {2(0),w(0), - ,w(N)}, KRB I /b
T3 FLEERS 3k 233 2 () A e MET T > 0. 3
A
N
In=x"(0)11; 196(0)+§0(y(t>—H (t)z(t))

(R y(t) — HH)x(t) =7 Iy )

Hrp
jNZ:c*(N—i—l)Pj\}Hx(N—i-l)—i—iv:s*(t)Rfs(t)—i-
N Tw)] [-72Qr 0] [w(t)

%[a(t) [ 0 Q [a(t)‘ ©

AR ) B b AN E R S8 LQ ] )
RESRPR, P
Jn=12*(0)P§z(0) +




48 o oE w5 N 24 %
w(t)| K, w(t) —w(t)
[ﬂ(t)] B [Kua)]:”(t)’ v it [ m()] 14
Y (t) H(t)X(t)
e -1 |G| pe
KC( ) (Re,t) GQ(t) Pt+1F( ) (9) EEP
R, = K, (t) = [K.(t)0 - 0],
—PQEAGIHOPLL G GIOPEGal) Se= " [5:0 - 0],
G (PG Qi G (0)PEGalt)] Q= |0
HPet =0, , Ni#2 {8 7] Riccati /7 2 @ f_w L -
PE— F* () PF, P (8)+ L* (1) REL ()~ X0 < t <4N, PR K, (8) RS, (R A ESE T )
K (1R K1), P an X () ATHL
c(ORE K (t), Prg- VR (14) [P S5 44, 45 HE R 4 I Krein S 8] 1R
RN (5)H 15 2 AR Y
In=1a"(0)(IIy " — v~ *F5)z(0) + (t4+1)=(F(t)— Gy (t) K., (t))x(t) +
N | w@®) —w() G1(t)(w(t) — W(t)) + Ga(t)u(t), (16)
t;o u(t) — ult) () —K.(t) _
Y (t) — H(t)X () v |=| B X(t) + V(t) (17)
o | REL(1,1) REL(1,2) o _
"R 2 R, 22)] Hox(0), w(t) — w(t), ut), Y(t), X(t) MIV(t) =
“ 0 “ (RY)? [vit V*(t)]* #&Krein ] 1 )2 B IEAER), H
i ' Wi A
wEg - ~((l;f)) ) x(0) x(0)
u —U
) —w(t) |, — W =
HR RS (1,7) (1,5 = 1, 2)FORHEBERS A5 (4, 7) Bk (I, = A~2Pe)~ 0
BRI 60 Oy A — R B v 0o
AT 15, R T HKrein ) E41HE 4 0 [Qi '
T A0 17 AR 225 I L P 5t Qi
4 4R (Main results) A fkw(t) — WORV(E) = [vi(t) V()] Ity 2
4.1 FHEH W (Reorganize measurements) W
é\ - 1 W—*w(t) = Q?a (18)
A7S ] Rz,tu,l)Rz,t(l,z)] Qv () = diag{Q.. (1), Qv(t)} = Q7.
F (A (2R, (2,2)|
AT ][R 1) Rel22) ST L 4 T 201 R
o B/

G1(t)(Rge ) Gi(t) Py Ga(t), (13)
Ree = —7*Qy + Gi(t) P Gi(t).
M2y gE— 2R R N
In=a"(0)(II; " —~*Fy)x(0) +

{A; f‘l‘G;( ) t+1G2( ) G ( )PtCJrl
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1M
[*(to|t—1) - - &*(ti1|t—1)]" ,:Zldkgkkildk,
I -
[#* (to|t—1) -+ - & (t;|t—1)]", kz_jdkgt,
(20)
Ha(t; [t —1)(i = 0, 1_ SO AE A2 () B 5
51 4 e 7 @q[iﬂ VA E . 9T
Qu, ()& Baw,(t )E’JTJ}?‘?%@E, B Bw,.(t) A
Cla®) | | @lr-1)] _
w7 e rt—1>] -
—K,(t) y _
[ H(1) ](X(t)—X(t|t—1))—|—V(t). (21)

AHE B T 2 BEQ,,, (t) A AL AL T
WX (t [t — 1) Fxf TR b s Ao w2 5k
IR, 3 200 [;((?)] S I, FRAE K Kalman
V&P o NARE R BB 55Q,,, (1) X (]t — 1).
K T AL A I OO0 O B SCE AL R, B
SR LR B SR U SRR B T 22 Q... (t)
FEHEX (]t - 1).

éf’ﬁ /Hu( )%Dyo( )m 5H

Yo(t) = Ho(t)x(t) + vo(t).

[0 [
nlt) = [yooe)] ol [mw] |
wo=[ 55|

Sy FIRAE R T RS54 5¢ R AL

o

2tly| 1=
LAYi11(0) -+ Viga(ta); -+ 5 Vit +1), -+,
Viltica);- st +1),--- (b))} (22)
o
Yo(T)
Vi(r)= : ,7>0,d; = de
Yior (T+d;i_1) =
(23)
R, V()RR R

Vi(r)=Hi(T)x(T)+Vi(1),i=1,--- ,[4+1. (24)

Hrr:
Hy(T) Vo(T)
Hi(r)= : Vi(r)= :
H, (T+¢Z_1) Vi (T—i-c{i_l)

BV (1) MR 7 ZBEQy, () W R
Qv, (1) = diag{Qs(7), Qu, (T+d1), - ,
Quv, (TH+d;i_)}i=1,--1+1. (26)

SR I 2 24) F P 0 I AN 2 A7 I . R 00

{Vi41(0), -, Vi (tr); - - ;yi(ti+1)7‘t yVi(tioa);
ﬁ%@HJL~w%@H%{3g VA

AL,
FLUR, SIS FADOENAH G 1 B 48T S N

Wilt; + k) = Vit + k) — Vi (b + k,d),
i=1,--- L,L1<k<d;, 27
Wig1(k) = Yiga (k) = Ve (b, 1+ 1),
1=1+1,0<k <d. (28)

T EE(s, ) (s > t;) ?%Tmif( ) B BN
o AL {yz+1 MNosksts - s Ve(k )|tj<k<tj,1, e
Vilk)|t,<nes—1t 13 200 B AL AL T (. 57 0 1,
Ms = I, £(s,0) Fox M RE(s) BB L
2 AL{Y g (K) lockss - s Vi(R) | <nst; a5
Viv1(B)|e; o <nees } 4 2 89 & 0 A6 o {E.7]
PLAE B B B Al B 5P 419k e i &t
WL{Wi 1 (F) o<kt -+ s Wilts 4+ K)lock<di -+ 5
Wi(ts + k)|o<rsa, b 5500 T 2022) % 1) £ 1 2% 1Al
Wi(t; + k)J& & ZE(16)H1(24) I KalmanE I (1 357 &,
S NPT SR
Wit + k) = Hipa (6 + ke (6 + k) +
Vit +k),1 <k <d;, (29

Wi (k) = Higa(k)e (k) + Vi (k),
0<k<d,. (30)
o
(31)

ei(m)=z(r)—&(r,l+1), 0<k<d;, (32
4.2 B 7 2= BE M AL Ak v E (Innovation co-
variance matrix and optimal estimator)
FEATTH, O 4. 10 R 4 ) s AL S S0
ST 2 Qu, (t) MR T2 (2 [t — 1), &



50 oA s N H 24 3
SORZES2(t + k+ 1) Fla(t + 1) BB PERRZE 1 Pt +k+1,0) =
T ZE P (6 + k4 1) MP (64 1) A: Proj{z(t; + k + 1)W1 (0), -, Wi (t);-- -5

Pit; + k) 2 (ei(ti + k), es(t; + k),
l<k<dy,i=1,---,1, (33)

Pria (k) = (a1 (), e (k) ,0 <k < tr. (34)

H12X(29)(30) K0 FE LB BRI B 5 22K
Qi(ti +k) = <Wz(tz + k), Wi(ti + k)> =
Hi(t + k)Pilts + k)M (8 + k) + Qv (t: + k),
1<k<Ld,e=1,---,1, (35)
Ql+1(k) = <I/T/l+1(l<:), Wlﬂ(k» =
Hip1 (k) Praa (F)YHi 1 (k) + Qui, (F),
0< k<, (36)

MNZFEH, 5 RGL16)FQMM KI5 2 FEP; (¢ +
k+ 1)MP (¢ + 1) ATt MR 51 BEKAS.

511 2¢(k) = F(k) — Gi(k) K, (k),
1) W77 ZBEP 1 (k+ 1) 35 2 WK I Riccati 5 F2:
Prya(k+1)=

P(k)Pria(k)d* (k) +Gr (k) QG5 (k)+
Ga(k)Qu(k)G5 (k) — (k) Pry1 (k)M (K)
Qi (k) Huga (k) Prya (k)" (),
Pr1(0) = . (37
A1 Q. (1) 2 R (36), QP FIQ., (k)i LK (18).
2) Wy ZERERE P btk ) (i=1,1—1,- -+ 15k =
1,2, -« dy) Al T b5
Pi(ti+k+1)=
G(ti4-k)Pi(t; 4+ k)" (t;4k)+Ga(t;+k)
Qu(ti+k)Gh(ti+k)+G1(ti+k) QY G (ti+k)—
O(ti+k)Pi(ti+k)H; (ti+k) Q7
(ti+E)YH(ti+k)P;i(ti+k)o™ (ti+ k), (38)
Pi(ti+1) =P (t;+1),k=1,--- ds,i=l,-- ,1
Hh Qi (t: + k) = H,(t: + k)P (t; + k)HE (t; +
k) + Qv(t + k). BEMHEPE +d + 1) =
Pia(tiy + WIERT—F0 =i — 1APIMA.
uE He, WA T EMEPL(E+ RS RE
(16)F1(24) I KalmanE I AH K [ Riccati /7 #2 (1) fiF, B
@KL Kk, CEbi it EZ (G + b+ 1,4) 240
W&zt + k + )83 B S 515K kit 28 %
AL {VVlJrl Yock<t s+ s Wilti + k) locrsa, ;
Wt + k) lo<k<dy }H@JE’J JUNEEER s NS W

Wit + 1), Wit +k— 1)} +
Proj{z(t; + k + 1)|Wi(t; + k)} =
O(ti+k)T(ti+k, i) +o(ti+k) (x(t;+k), ei(t;+k))
HE(t + k)Qy (s + k)Wi(t; + k) =

ot + k)T (ti+k, i)+ o(ti+k)

Pi(ti+EYH; (ti+k)Q; " (ti+ k)W, (t;+k). (39)

ERNCINEDY T
eiti+k+1)=
ot +k+1) -2t +k+1,4) =
O(t; + k)e;(t; 4+ k) + Gy (t; + k) (w(t; + k) —
w(t; + k) + Go(t; + k)u(t; + k) — o(t; + k)
Pi(ti+k)H; (ti+k)Q; (ti+k)Wi(ti+k).  (40)

AR Ze (t + Kk + D) RGH B W, (¢t + k) L% iR
Zee;(t; + k)R A u(t; + k) JEK, dEif i =X40) 13 21
5 ZEMEP (L + K+ 1) 5 (38).

v BB B T 2 FEQu, (¢) A B A 1Al T
2(t; [t — 1) TFEL HARE 2 () I THR Zey, (8 +
T W 5% R e = (), eilti +7))
(1,7, 7 = 0), B

Pi(t;) A ()

¢ AT 1), 64T >,
Riiir= Gr—1 -

gf)t +T (t +’7') ti+7'<tj,
(41)
HAAt; + k), k> 0RH
Alti+k+1) =
e { L — P (ti+ k) H (8 +k) Q7 (4 +E)H (¢ +k) ).

FEoIHh, 240 =1+ 10,

Alti+k+1) =

Gtk idn — Pra(tiyr + k)

Hi g (bs + F)Qp (frr + k) Higa (b + k) 3
I 2 HERG(D~Q). mAIERL ()R
E(t[t) = [L, — Pr(tYHT(6)Q1 (t)Ha ()]

2(t,1) + PLOH(O)QT ()W (t). (42)
HFrQ(t) = Hi(t)Pr(t)HI(t) + Qv (2), SKEUL T
i (t, 1) 7 22 BEPy (¢) (20 B R
D BHE (G + 1, 04+1), Wt =d,di+ 1, -,
H



ER] HHFAE:

TR Gt 2 20 WL I3 14 H o B 1 S 154771 51

T+ 1,l+1) =
D) (b1, 14+ 1) 4+ () P (b)) Hy y (0) Qi (1) X

Vi () = Hisa ()2 (6, 1+ 1)1,

#(0,1+1) = 0. @3)
Hrp
Qu1(t) = Hisa (8) Pra () HE () + Quiy, (1),

FEFEP, o (6) i 2 BT HYMEP, 1 (0) = Po.

2) iHE (L, 1).

Bt +k+1,0) =

o(t; + k) (t; + k, i) + o(t; + k)P;i(t; + k)

H; (ti+k)Q;  (ti+E) [Vi(ti+-k) —Hi(t:+k)

E(ti+k, )], 2t +1,141),k=1,2,-- -, d;;

i=01-1,---,1. (44)
Hrpat + 1,0) = 2t + 1,i + D) HQi(t: + k) =
Hi(ti + kB)Pi(t; + k)H;(t; + k) + Qv (t; + k), 51
FEP; (t; + k)i 2 5X(38).

3) FIHR@H) A THEZ (), bz, 1) =
T(ty + dy, V)MIP(t) = Py(ty + dy) vl P ER2) KA.

UE AR AT WL SC[9].

R
EE1 OF R ER
_ [@utn Qa2
Qu.1) = 0wl = " ) ch<2,2>]’

iy

a) Qw (1 1)= (A) S ()P () (KW (2)
Hrh A {%Eft(w)

b) ch(172> Q* ( ’ ):[ ]1>< , LA

MG = 1, a; = — K, ()P (8) H (1)

L <, = — K (R H (1)

c) ch(2v2) = [Amn]ixi, Hirp

~Hm=n=1I, Ayy = Hy(t)P:1(t)H; (t)+Rg;
Mm=n>1H,

A = Hyp 1 (b2 )P Hy o (fn) + R,y
- Mm o >n=1HH,

A = A;m = mfl(tmfl)Rzzljll,tHg (t);
“Mmo>n > 10,

Amn = A* = Hm 1(tm 1),P:n 1H* ( n— 1)-

HrhRym, +T{W§ET(41) Hp > ¢,

Pt = < ( p)7§(tq)> =
Ry oy + K7, Q7 ()(K(7,)" +

ZZ )

=q =1

S+ T K ) (49)

S(tp) = a(ty) —&(tplt — 1,4, — 1), (46)

Kt oo = R MG (G +K)Q7 (5 +k). (47)
Re5li, p = gt

P = (s(tp)ss(ty)) =

Pt (ty) + Kyl o Quta (6) (K7, 1) +

Kttft KT+

Z Z’Ct Q@ (8

j=p7=1

FR)KY )T (48)

2) Mt > i ]

& Qu. (1, A1,

b) Qu.(1,2) =Q;. (2, )ADF Hi=1+1;

Q) Qu,(2,2)ADHi=1+1.

UE A2 FEIC[10].

EE 2 FIERZAOMQR), A E
2(tt—1)(i=0,1,--- , 1)K

i.(ti‘t - 1):

B(tiyi+1) =Ry Hi(0)QT (1) D) —

Hi ()t 1))+ Ry, o Hi () Qi (t:)

(JAH( i) = Hia(t)2(ti, i+ 1)) +

Z ZRt 4T (tj + T)Q;1

j=1l71=1
(Vi(t; +7) = H;(t; + 1)t +7,7)),

(tj+7)

Bt 1).
(49)
= B RS A X R R ER A (A R P2 N
( )f fE 2k 1 [E_J»C{VVI+1(0),’-- ,Wz+1(t1)§"' ;
W(t +1),- Wl(ti—l);"' sWi(ti41), -, Wi(t—
1} I“EI’JE BRLOAW, ()2 B W, Al ok
Hz(t; |t — 1)793% /NN IR
(ti|t - 1) =
Proj{x(t;)|Wi1(0), -+, Wiga (tr); -+ 5
Wiga(tigr +1), -+, Wi (i = 1)} +
Proj{z(t;)|[ Wi (t:); Wilti + 1), -+, Wiltin);
Wity +1),- Wl(t_l)}:
(tz,z+1)+21 ERt o M (G 4+7)Q5
Vit +7) = H;(t; + T)A(t‘ +7,7))
- <CL‘(ti),W1(t)> + <$ i)y Wi ( > =
A(ti,i+1)—R§j,tH}‘(t)Q1 () (Vi (t)—Ha(t)
2(t, 1)) + Ry, o Hi () Qi ()
(Vit1(t:) = Hipa (L) 2(ts,7 + 1))+

(tj+7)



2 T ER R -
i dj ) N B V) — Haltl— 1 |
2 ZRié,thr‘rHj(tj +T)Qj1(tj +7) (Y (1) 12 (t] )

(it Hrp:

(Vi(t; +7) = H;(t; + 7)2(t; + 7, 5))

diy1 — 1, 1&1/'Hﬁi(tl+1 +digq,t+ 1)Eﬁfﬁ(43)ﬁ‘ﬁ
EEE.
4.3 H_ ¥l |\ & i f#(Solution to H., control
problem)
FRAREF AL (D~(3). MMEREL E )y > 0,
HL i R b 88 a(t) = F, (Y(0), -+ 5 Y ()1
PR REFE AR (4) AL () TS A2
1) I — 72 P¢ > 0;
2) Ht=0,1,---, N, Hip%
A= —7262;1} + Gf(t)PthrlGl(t) -
G1(t)Pr G (t) Re (G5 (t) Pl G (t) < 05
3) Mt =0,1,---, N, 4FEQV — S, (QP) 1 S;Hil
Qu, (AT AR T 109 08 P, 36 hpe it 2 b D
[fIRiccati /5 2 H R, = QF + G5(t)Pg Ga(t). W
H. H th S s il ds A
a(t)= =K, ()X (t|t — 1) = Ki(t) Q! (1)
V() — H()X (t]t — 1)). (50)

J
|

{ ch(t) = ch(27 )7 (51)

Kii = Qu.(1,2)Q,(2,2).
BARAGTE (et — 1)K
X(t|t—1)=
(2" (to |t —1) -+ & (i [t—1)0 -+~ 0],
Z_Z:l dk < t < zl: dk,
k=1 k=1
(@ (to [t = 1) -+ @ ([t —1)]",

i—1
S d, <t
k=1

\

Horha(t; [t — 1) BE B e #2245 .

UE A3 AT A0 A SMMTDAE A T Ik B Ty
XA {x(0),w(0), -+, w(N)E H/IMET R H ik
Bl #a () Te > 0.0 tRa4)nr 4, w4z
#{z(0),w(0), - ,w(N)}, MG KA IvH & D
B (R 0 B2 4% 8 R 1),2)F13). IR A T 1) F /NME
KA . X5 B 7 2 BEQ.,, (¢) 1 ATUDLS) i,

St ML Ty
N
I = 3 (ult) = a(t)" Agi (u(t) — u(t) +
N

> (Y (1) — Hia(tlt — 1))"Q,, (1)

t=0

Apy ={Qu.(1,1) = Qu,(1,2)}Q,1(2,2)Qu. (2, 1),

A, = Q5+ Gy Py Gay — Gy Py Gra(Ree )™
G Pt Ga,

R, = —7°QF + Gy Pty Gy,

HQu, ()# (5. Ap SEHFEQ,, (6B BT
ZFEQ,,, (t) I Shurkh. T2
u(t) = =K, 2t — 1) —
K Qul () (V(t) — Hyi(t|t — 1)),

bR 2 RS, 4R, Q.. (1) > O
Ap, < 0.

ML PRI AA(t) = alt)n, AR 5D
HJTR > 07, BRI, b B4 AR R ek 78 43
S, FIH 2L X (Ht — 1) et — 1) =
0, DI E. 73 2 13 EH T B8 48 b5 10 3
AR () SOPR A L .

EEE.

5 4Z5i&(Conclusion)
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Tk, A T BB R G 2 A I I H o 75 1 1) Rt
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